UNIT PRICE ITEMS

POINCIANA ELEMENTARY SCHOOL (SRTS) SIDEWALK IMPROVEMENT PROJECT

BID SCHEDULE

GENERAL AND SUPPLEMENTARY CONDITIONS, MOBILIZATION, DEMOBILIZATION, TESTING SERVICES, FIELD ENGINEERING, MEASUREMENT AND PAYMENT, AND ENVIRONMENTAL PROTECTION, AS-BUILT SURVEY AND PLANS WILL BE TEN PERCENT (10%) OF WORK PERFORMED, WITH A MAXIMUM OF \$40,000.

The Bidder further proposes to accept as full payment for the work proposed herein the amounts computed under the provisions of the Contract Documents and based on the following unit price amounts, it being expressly understood that the unit prices are independent of the exact quantities involved. The Bidder agrees that the unit prices represent a true measure of the labor and materials required to perform the work, including all allowances for overhead and profit for each type and unit of work called for in these Contract Documents. The amounts shall be shown in both words and figures. In case of a discrepancy, the amount shown in words shall govern.

1. Performance and Payment Bonds 1. LS \$ 14,000 2. General & Supplementary Conditions, Mobilization, Demobilization, Testing Services, Field Engineering, Measurement and Payment, Environmental Protection, and As-built Survey and Plant LS \$ 40,000 Materials 1. Crushed Limerock 230 LS \$ 65 Fourteen Thousand Nine Hundred Fifty Dollar \$ 14,950 2. 12" Stabilized Base 240 CY \$ 45 Ten Thousand Eight Hundred Dollar \$ 10,800 3. No. 89 Rock 33 CY \$ 95 Three Thousand One Hundred Thirty Five Dollar \$ 3,135 4. 50/50 Mix of top soil and sand for intersection planter islands 50 CY \$ 85 Four Thousand Two Hundred Fifty Dollar \$ 4,250	Item	Quant	ity & U	nit UP (Fig)	PU (Words)	Extended Total Amt			
2. General & Supplementary Conditions, Mobilization , Demobilization, Testing Services, Field Engineering, Measurement and Payment, Environmental Protection, and As-built Survey and Plantage 1 LS \$40,000 Forty Thousand Dollar \$40,000 Materials 1. Crushed Limerock 230 LS \$65 Fourteen Thousand Nine Hundred Fifty Dollar \$14,950 Pollar \$14,950 Pollar \$14,950 Pollar \$10,800 Pollar \$	1. <u>Pe</u>	Performance and Payment Bonds							
Engineering, Measurement and Payment, Environmental Protection, and As-built Survey and Plan 1 LS \$40,000 Forty Thousand Dollar \$40,000 Materials 1. Crushed Limerock 230 LS \$65 Fourteen Thousand Nine Hundred Fifty Dollar \$14,950 2. 12" Stabilized Base 240 CY \$45 Ten Thousand Eight Hundred Dollar \$10,800 3. No. 89 Rock 33 CY \$95 Three Thousand One Hundred Thirty Five Dollar \$3,135 4. 50/50 Mix of top soil and sand for intersection planter islands		1	LS	_{\$} 14,000	Fourteen Thousan	d Dollar _{\$} \$14,000			
Materials 1. Crushed Limerock 230 LS \$65 Fourteen Thousand Nine Hundred Fifty Dollar \$14,950 2. 12" Stabilized Base 240 CY \$45 Ten Thousand Eight Hundred Dollar \$10,800 3. No. 89 Rock 33 CY \$95 Three Thousand One Hundred Thirty Five Dollar \$3,135 4. 50/50 Mix of top soil and sand for intersection planter islands				surement and Payme	nt, Enviromental Protection, ar	nd As-built Survey and Plans			
1. Crushed Limerock 230 LS \$65 Fourteen Thousand Nine Hundred Fifty Dollar \$14,950 2. 12" Stabilized Base 240 CY \$45 Ten Thousand Eight Hundred Dollar \$10,800 3. No. 89 Rock 33 CY \$95 Three Thousand One Hundred Thirty Five Dollar \$3,135 4. 50/50 Mix of top soil and sand for intersection planter islands		1	LS	_{\$} 40,000	Forty Thousand	Dollar _{\$} 40,000			
2. 12" Stabilized Base 240 CY \$ 45 Ten Thousand Eight Hundred Dollar \$ 10,800 3. No. 89 Rock 33 CY \$ 95 Three Thousand One Hundred Thirty Five Dollar \$ 3,135 4. 50/50 Mix of top soil and sand for intersection planter islands		Materials							
2. 12" Stabilized Base 240 CY \$ 45 Ten Thousand Eight Hundred Dollar \$ 10,800 3. No. 89 Rock 33 CY \$ 95 Three Thousand One Hundred Thirty Five Dollar \$ 3,135 4. 50/50 Mix of top soil and sand for intersection planter islands		230	LS	_{\$} 65	Fourteen Thousand Nine Hundre	ed Fifty Dollar $$14,\!950$			
3. No. 89 Rock 33 CY \$ 95 Three Thousand One Hundred Thirty Five Dollar \$ 3,135 4. 50/50 Mix of top soil and sand for intersection planter islands	2. 12	2" Stabil	ized Bas	se					
3. No. 89 Rock 33 CY \$ 95 Three Thousand One Hundred Thirty Five Dollar \$ 3,135 4. 50/50 Mix of top soil and sand for intersection planter islands		240	CY	<u>\$45</u>	Ten Thousand Eight Hun	dred Dollar $_{\$}10,\!800$			
4. 50/50 Mix of top soil and sand for intersection planter islands	3. N								
		33	CY	<u>\$95</u>	Three Thousand One Hundred Th	irty Five Dollar \$3,135			
50 CY \$\frac{85}{250} \text{Four Thousand Two Hundred Fifty Dollar } \frac{4,250}{250}	4. 50)/50 Mix	of top s	soil and sand for inter	rsection planter islands				
		50	CY	<u>\$</u> 85	Four Thousand Two Hundred	# Fifty Dollar \$ 4,250			

Item	Quant	ity & Uı	nit UP_(Fig)	PU (Words)	Extended Total Amt		
5. G	5. Grassing; Bahiagrass sod						
	2,500	SF	<u>\$</u> 2	Five Thousand Dollar	5,000		
6. F	Flowable Fill (500 psi)						
	80	CY	_{\$} 275	Twenty Two Thousand Dollar	22,000		
	valk Inst	allation					
	13,000) SF	_{\$} 8.50	One Hundred Ten Thousand and Five Hundred Dolla	^r _{\$} 110,500		
8. 6'	" Depth						
	4,000	SF	<u>\$</u> 10	Forty Thousand Dollar	\$\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\		
9. E	arthwork	(Gradii	ng) between EOP and sidewal	k			
		SY		Eighty Seven Thousand Five Hundred Dolla	_{\$87,500}		
10. T	0. Thickened Edge						
		LF	<u>\$</u> 20	Eighteen Thousand Dollar	<u>18,000</u>		
	Installat DOT Ty	<u>ion</u>					
			\$60	Thirty Six Thousand Dolla	r _{\$} 36,000		
12. N	fodified '	Tvpe "E	"Curb (i.e.; Returned Curbs (@ Handicap Ramp)			
			<u>\$40</u>		r _{\$} 60,000		
	13. 2-1/4x4x8 Brick Pavers with ADAAG Detectable Warning System; Endicott or Equal in Rose, Coppertone, Manganese, or Red Blend Color						
	350	SF	§ 25	Eight Thousand Seven Hundred Fifty Dolla	_{\$8,750}		
14. Valley Gutter, 3-foot wide							
	250		_{\$} 95	Twenty Three Thousand Seven Hundred Fifty Dolla	\$23,750		
15. Sewer/Water Meter Boxes w/Lids-11x18x12 deep-BCF Series or Approved Equal							
, ~,	75	EA	\$550	Forty One Thousand Two Hundred Fifty Dolla			

Item_	Quanti	ity & Un	<u>it</u> UP <u>(Fig)</u>	PU (Words)	Extended Total Amt
16. Ra	ise Stor	m Drain	Inlet Frame & Grate; traffic-	rated	
	1	EA	<u>\$800</u>	Eight Hundred Dollar	<u>\$800</u>
17. Cro	osswalk	Special	Emphasis, White (thermopla	stic)	
	7	EA	<u>\$</u> 800	Five Thousand Six Hundred Dollar	\$5,600
18. 24'	' Stop E	Bar, Whi	te (thermoplastic)		
			<u>\$</u> 250	One Thousand Five Hundred Dollar	1,500
19. Pai	int New	Curbs \	Cellow		
		LF	_	Six Thousand Dollar	6,000
20. As	phalt-H	ot Mix			
	-	SY	_{\$} 75	Sixteen Thousand Five Hundred Dolla	_{\$} 16,500
21. Sid	lewalk,	Curb, C	oncrete Pad and Brick Paver l	Removal and Disposal (Any T	hickness)
		SF		Fifty Two Thousand Dollar	
22. As			(Any Thickness)		
		SF		Six Thousand Dollar	6,000 <u>\$</u>
23. Ma	ilbox R	Lelocatio	n (to be coordinated with hon	neowners)	
	6	EA	<u>\$150</u>	Nine Hundred Dollar	900
24. Sig	n Remo	oval at P	oinciana Plaza (to be coordin	ated with Poinciana Plaza owr	ners)
	1		_{\$} 500	Five Hundred Dollar	
25. Fei	nce Ren	noval fro	om Right-of-Way		
	600		§ 30	Eighteen Thousand Dollar	18,000
-				ı, 3 ½" diameter aluminum pos	st and concrete footing);
K2	-1, R1 35	I, R/-1, EA	\$600	TL, D11-1, M7-1, R5-3, W9-1 Twenty One Thousand Dollar	
	55	L.C.	Ψ	***	Ψ

PU (Words)	Extended Total Amt						
27. Object Markers; Type 1 OM1-1 consisting of nine yellow reflectors (3" diameter) mounted on yellow diamond panel (18") and Type 3 OM-3R or OM-3L consisting of a vertical rectangle with alternating black and reflective yellow stripes sloping downward at an angle of 45 degrees (3" width stripe)							
One Thousand Seven Hundred Fifty Doll	ar <u>\$ 1,750</u>						
Ten Thousand Dolla	<u>r</u> _{\$} 10,000						
y (includes removal and dispo	sal or relocation)						
Ten Thousand Eight Hundred Dolla	ar <u>\$</u> 10,800						
30. Tree Relocation and Root Pruning by Certified Arborist							
Fourteen Thousand Five Hundred Sixty Five Doll	14,565						
31. 8" Steel pipe, Concrete-filled Bollard							
Seven Thousand Two Hundred Dolls	ar _{\$} _7,200						
32. Allowance Contingency \$\\\35,000.00							
TOTAL OF ALL EXTENDED UNIT PRICE ITEMS LISTED ABOVE \$ 748,000.00							
TEMS LISTED ABOVE \$ _							
ısand _{Dolla}	rs and Zero Cents						
cedence)							
	Ten Thousand Dolla Ten Thousand Eight Hundred Dolla Arborist Fourteen Thousand Five Hundred Sixty Five Doll Seven Thousand Two Hundred Dolla Seven Thousand Two Hundred Dolla TEMS LISTED ABOVE \$						

(Use additional sheets if necessary.)	
The rest of scopes.	

List items to be performed by Contractor's own forces and the estimated total cost of these items.

SUBCONTRACTORS

The Bidder further proposes that the following subcontracting firms or businesses will be awarded subcontracts for the following portions of the work in the event that the Bidder is awarded the Contract: Note to Bidder: Subcontractors shall be prequalified to perform projects for FDOT.

Affordable Asphalt			
Portion of Work			
Asphalt Paving and Re	emoval		
Name	111000000000000000000000000000000000000		
Dave Robert	Islamora	da FL	33036
Street	City	State	Zip
High-Tech Striping			
Portion of Work			
Striping and Signage			
Name			
Patrick Coakley	Medley	FL	33166
Street	City	State	Zip
Portion of Work			
Name			_
Street	City	State	Zip
Arazoza Brothers			
Portion of Work			
Tree Removal and Rei	location		
Name	,		
Robert Ayala	Homeste	ead FL	33031
Street	City	State	Zip

SURETY

OTAK Group, Inc.

3308 Flagler Ave.

be sent.

Waldorff Insurance and Bon	v	whose address is	
45 Eglin Parkway NW, Ste. 20	FL	32548	
Street	City	State	Zip
(352)374-7779 Ben 1	French		
Phone	Resident Agent		
BIDDER			
The name of the Bidder submitting this Prop	osal is		

Street City State Zip
which is the address to which all communications concerned with this Proposal and with the Contract shall

Key West

FL

The names of the principal officers of the corporation submitting this Proposal, or of the partnership, or of all persons interested in this Proposal as principals are as follows:

Name	Title		
Aaron Kato	President		
Michael Miller	SR. Vice President		
Michael Perry	Vice President		

doing business at

33040

If Sole Proprietor or Partnership

	11 5010 110	priotor or realities	1115	
IN WITNES	S hereto the undersigned has set his	(its) hand this	day of	2012.
	Signature of Bidder			
	Title			
	If	Corporation		
	SS WHEREOF the undersigned corby its duly authorized officers this 81			
(SEAL)				
	OTAK Group, Inc. Name of Corporation			
		Miller Mi	bayell	
	Title SR. Vic			
	Attest Attest Secretary Contracts	Mc Mgr.		

its